

3. About genericity

Objektyp: **Chapter**

Zeitschrift: **L'Enseignement Mathématique**

Band (Jahr): **44 (1998)**

Heft 1-2: **L'ENSEIGNEMENT MATHÉMATIQUE**

PDF erstellt am: **22.09.2024**

Nutzungsbedingungen

Die ETH-Bibliothek ist Anbieterin der digitalisierten Zeitschriften. Sie besitzt keine Urheberrechte an den Inhalten der Zeitschriften. Die Rechte liegen in der Regel bei den Herausgebern.

Die auf der Plattform e-periodica veröffentlichten Dokumente stehen für nicht-kommerzielle Zwecke in Lehre und Forschung sowie für die private Nutzung frei zur Verfügung. Einzelne Dateien oder Ausdrucke aus diesem Angebot können zusammen mit diesen Nutzungsbedingungen und den korrekten Herkunftsbezeichnungen weitergegeben werden.

Das Veröffentlichen von Bildern in Print- und Online-Publikationen ist nur mit vorheriger Genehmigung der Rechteinhaber erlaubt. Die systematische Speicherung von Teilen des elektronischen Angebots auf anderen Servern bedarf ebenfalls des schriftlichen Einverständnisses der Rechteinhaber.

Haftungsausschluss

Alle Angaben erfolgen ohne Gewähr für Vollständigkeit oder Richtigkeit. Es wird keine Haftung übernommen für Schäden durch die Verwendung von Informationen aus diesem Online-Angebot oder durch das Fehlen von Informationen. Dies gilt auch für Inhalte Dritter, die über dieses Angebot zugänglich sind.

3. ABOUT GENERICITY

LEMMA 3.1. *Let $X = \{x_1, \dots, x_k, y\}$. For every $0 < \epsilon < 1/(k+1)$, the ratio*

$$\frac{\#\{r \in \mathbf{F}_X \mid |r| = n, r \text{ is } (\epsilon, y)\text{-balanced}\}}{\#\{r \in \mathbf{F}_X \mid |r| = n\}}$$

tends to 1 when n tends ∞ .

Proof. First we want to rephrase the Lemma in terms of generating functions. Let K be any fixed subset of \mathbf{F}_X and $F_K(z, u)$ be the generating function defined by

$$F_K(z, u) = \sum_{r \in K} z^{|r|} u^{n_y(r)}.$$

$F_K(z, u)$ strongly depends on the choice of the generator y . However, as y is fixed throughout the proof and to lighten the notation, we write $F_K(z, u)$ instead of $F_{y,K}(z, u)$.

Defining $c_{n,l}$ and $p_n(l)$ by

$$F_{\mathbf{F}_X}(z, u) = \sum_{r \in \mathbf{F}_X} z^{|r|} u^{n_y(r)} = \sum_{n,l} c_{n,l} z^n u^l \quad \text{and} \quad p_n(l) = \frac{c_{n,l}}{\sum_m c_{n,m}},$$

we have to prove that for every $0 < \epsilon < 1/(k+1)$,

$$\lim_{n \rightarrow \infty} \sum_{0 \leq l < \epsilon n} p_n(l) = 0.$$

We want to find an analytical form for $F_{\mathbf{F}_X}(z, u)$.

It is clear that if K_1 and K_2 are disjoint subsets of \mathbf{F}_X then $F_{K_1 \cup K_2}(z, u) = F_{K_1}(z, u) + F_{K_2}(z, u)$.

Let K_1, K_2 be two subsets of \mathbf{F}_X ; assume that the map $K_1 \times K_2 \rightarrow K_1 K_2$ defined by $(\omega_1, \omega_2) \mapsto \omega_1 \omega_2$ is one to one and satisfies $|\omega_1 \omega_2| = |\omega_1| + |\omega_2|$ for $\omega_i \in K_i$ (where $K_1 K_2 = \{\omega_1 \omega_2 \mid \omega_i \in K_i\}$); it is also clear that $F_{K_1 K_2}(z, u) = F_{K_1}(z, u) F_{K_2}(z, u)$. This can be extended to a finite product of such K_i 's.

First we compute the generating functions of some subsets K of \mathbf{F}_X .

- $F_{\{e\}}(z, u) = 1$.
- Denote by $X' = X - \{y\}$. As there are exactly $2k(2k-1)^{n-1}$ reduced words of length $n \geq 1$ in $\mathbf{F}_{X'}$, we obtain $F_{[\mathbf{F}_{X'} - \{e\}]}(z, u) = \frac{2kz}{1-(2k-1)z}$. Set $f(z, u) = F_{[\mathbf{F}_{X'} - \{e\}]}(z, u)$.
- For $\langle y \rangle = \{y^i \mid i \in \mathbf{Z} - \{0\}\}$, we have $F_{\langle y \rangle}(z, u) = \frac{2uz}{1-uz}$, because there are exactly 2 elements $y^{\pm i}$ in $\langle y \rangle$ such that $n_y(y^{\pm i}) = |y^{\pm i}| = i$. Set $h(z, u) = F_{\langle y \rangle}(z, u)$.

Now we can partition \mathbf{F}_X as follows:

$$\mathbf{F}_X = \{e\} \amalg [\mathbf{F}_{X'} - \{e\}] \amalg_{n \geq 0} I_n$$

where

$$I_n = \{\omega_0 y^{i_1} \omega_1 \dots y^{i_{n-1}} \omega_{n-1} y^{i_n} \omega_n \mid \omega_j \in \mathbf{F}_{X'}, \omega_j \neq e \text{ for } j \neq 0 \text{ or } n, \text{ and } i_j \neq 0\}.$$

It is easy to check that $F_{I_n}(z, u) = (f(z, u) + 1)^2 h(z, u) (h(z, u)f(z, u))^{n-1}$. So we obtain that

$$\begin{aligned} F_{\mathbf{F}_X}(z, u) &= 1 + f(z, u) + \sum_{n \geq 1} (f(z, u) + 1)^2 h(z, u) (h(z, u)f(z, u))^{n-1} \\ &= (1 + f(z, u)) \left(1 + \frac{h(z, u)(f(z, u) + 1)}{1 - h(z, u)f(z, u)}\right) \\ &= \frac{(1 + z)(1 + uz)}{1 - (2k - 1)z - uz(1 + (2k + 1)z)}. \end{aligned}$$

Borrowing notation from [2], let $g(z, u) = (1 + z)(1 + zu)$ and $P(z, u) = 1 - (2k - 1)z - uz(1 + (2k + 1)z) = 1 - (2k - 1 + u)z - (2k + 1)uz^2$. Then

$$F_{\mathbf{F}_X}(z, u) = \frac{g(z, u)}{P(z, u)}$$

and let $r(s)$ be the root of smallest modulus of $P(r(s), e^s) = 0$ in a small neighborhood of $s = 0$. In particular $r(0) = \frac{1}{2k+1}$. According to [2, (3.1)], we obtain from [2, Theorem 1] that

$$\lim_{n \rightarrow \infty} \sup_x \left| \sum_{k \leq \sigma_n x + \mu_n} p_n(k) - \frac{1}{\sqrt{2\pi}} \int_{-\infty}^x e^{-t^2/2} dt \right| = 0$$

with $\mu = \frac{r'(0)}{r(0)}$, $\mu_n = n\mu = n \frac{r'(0)}{r(0)}$ and $\sigma_n^2 = n\sigma^2 = n(\mu^2 - \frac{r''(0)}{r(0)})$.

Computing $r'(0)$ or easy combinatorial considerations gives $\mu_n = \frac{n}{k+1}$. The actual value of σ is here useless.

Now let $\epsilon < \frac{1}{k+1}$ and $\delta > 0$. Let x such that $\frac{1}{\sqrt{2\pi}} \int_{-\infty}^x e^{-t^2/2} dt < \delta$. Then there exists N such that for $n > N$, $\epsilon n < \sigma \sqrt{nx} + \frac{n}{k+1}$ since $\epsilon < \frac{1}{k+1}$. Therefore, for $n > N$,

$$\sum_{k < \epsilon n} p_n(k) \leq \sum_{k < \sigma_n x + \mu_n} p_n(k)$$

and there exists N_1 such that for $n > N_1$,

$$\sum_{k < \epsilon n} p_n(k) \leq 2\delta. \quad \square$$

COROLLARY 3.2. For $\#X = k$, $\#R = n$, $x_0 \in X$ and $0 < \epsilon < 1/k$ fixed, being (ϵ, x_0) -balanced is generic for $\Gamma = \langle X | R \rangle$.

Proof of corollary. We choose n relations at random; by Lemma 3.1, every $r \in R$ is generically (ϵ, x_0) -balanced, but the conjunction of finitely many generic properties is also generic. \square

4. SOME SUFFICIENT CONDITIONS FOR THE EXISTENCE OF FREE SUBGROUPS

We first begin by a very easy proposition.

PROPOSITION 4.1. Let $\Gamma = \langle X | R \rangle$ be a finite presentation, which has a Dehn algorithm and such that for some $y \in X$ every subword u of every $r \in R^*$ with $|u| > |r|/2$ contains either y or y^{-1} , then $X - \{y\}$ generates a free subgroup in Γ .

The proof of this proposition will follow from Lemma 4.2 below.

LEMMA 4.2. For $\langle X | R \rangle$ a finite presentation of a group Γ and $y \in X$, the following are equivalent:

- $X - \{y\}$ freely generates a free subgroup of Γ ;
- every non trivial element $\omega \in \mathbf{F}_X$, which represents the identity in Γ , contains either y or y^{-1} .

Proof. 1) \Rightarrow 2): By contraposition, suppose that there exists a non trivial reduced element $\omega \in \mathbf{F}_{X-\{y\}}$ such that $\bar{\omega} = e$ (where $\bar{\omega}$ is the canonical projection of ω in Γ), then $X - \{y\}$ does not freely generate a free subgroup in Γ .

2) \Rightarrow 1): Let $\omega_1, \omega_2 \in \mathbf{F}_{X-\{y\}}$ be two reduced elements such that $\bar{\omega}_1 = \bar{\omega}_2 \in \Gamma$. Then $\overline{\omega_1 \omega_2^{-1}} = e \in \Gamma$. So $\omega_1 \omega_2^{-1}$ is an element of $\mathbf{F}_{X-\{y\}}$ which represents the identity in Γ . By hypothesis, this implies $\omega_1 = \omega_2$ in \mathbf{F}_X . Hence $X - \{y\}$ freely generates a free subgroup in Γ . \square

Proof of Proposition 4.1. By Lemma 4.2, it is sufficient to show that every non trivial reduced word on \mathbf{F}_X which represents the identity in Γ contains either y or y^{-1} . By assumption, $\Gamma = \langle X | R \rangle$ satisfies a Dehn algorithm, so such a word contains at least one half of a relator r in R which contains at least one occurrence of y or y^{-1} . \square